MARKETING APTITUDE / COMPUTER KNOWLEDGE
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(A) Selling of Bnaks
(B) Buting of banks
(C) Merger of banks
(D) selling bank's produts and services
(E) Selling various items in banks
ANS -(D)
2. Proper pricing is needed for -
(A) Extra charges of extra services
(B) Levy of VAT
(C) Good customer services
(D) Putting burden on the customer
(E) Service with extra facilities
ANS -(C)
3. Alead means -
(A) Abank's marketing staff
(B) Areligious leader
(C) Bank's chairman
(D) Target Customer
(E) Leash tied to a dog
ANS -(D)
4. A good salesman should be-
(A) Agressive
(B) Pushy
(C) Fierce
(D) Polite, but firm
(E) Talkative
ANS -(D)
5. Relationship selling means -
(A) Preparing a list of relatives
(B) Cross selling
(C) Selling to relatives
(D) Selling to strangers
(E) Telemarketing
ANS -(B)
6.ATM are -
(A) Branches of banks
(B) Manned couters of banks
(C) Unmanned , cash dispensers
(D) All of these
(E) None of these
ANS -(C)
7. Home loans are granted to -
(A) Individuals
(B) Institutions 
(C) Builders
(D) All of these
(E) None of these
ANS -(A)
8. Credit cards are used for -
(A) Cash withdrawals
(B) Purchase of air tickets
(C) Purchase of consumable items from retail outlets
(D) All of these
(E) None of these
ANS -(D)
9. HNI means -
(A) Highly negative individual
(B) High growth individual
(C) High neutral individual
(D) Highly necessary individual
(E) All of these
ANS -(B)
10. What menu is selected to cut , copy, and pest ?
(A) File
(B) Tools
(C) Special
(D) Edit
(E) None of these
ANS -(D)
11. The most important or powerful computer in a typical network -
(A) Desktop
(B) Network client
(C) Network server
(D) Network station
(E) None of these
ANS -(C)
12. The primary purpose of software is to turn data into -
(A) Web sites
(B) Information
(C) Programs
(D) Objects
(E) None of these
ANS -(C)
13. Which of the following is the largest unit of storage ?
(A) GB
(B) KB
(C) MB
(D) TB
(E) None of these
ANS -(D)
14. Which of the following is an example of connectivity ?
(A) Internet
(B) Floppy disk
(C) Power cord
(D) Data
(E) None of these
ANS -(A)
15. A collection of related file is called a -
(A) Character
(B) Field
(C) Database
(D) Record
(E) None of these
ANS -(C)







Paper: SBI Clerk Recruitment Exam 2009 (Quantitative Aptitude)
Directions—(Q. 1–6) What should come in place of the question mark (?) in the following questions ?
1. 196 × 948 ÷ 158 = ?
(A) 1156
(B) 1200
(C) 1188
(D) 1176
(E) None of these
Ans : (D)
2. (786 × 64) ÷ 48 = ?
(A) 1050
(B) 1024
(C) 1048
(D) 1036
(E) None of these
Ans : (C)
3. 3·5 + 11·25 × 4·5 – 32·5 = ?
(A) 18·275
(B) 21·625
(C) 32·375
(D) 25·45
(E) None of these
Ans : (B)
4. (2640 ÷ 48) × (2240 ÷ 35) = ?
(A) 3520
(B) 3515
(C) 3495
(D) 3490
(E) None of these
Ans : (A)
5. 7414 + 3698 + 1257 + 1869 = ?
(A) 14328
(B) 14438
(C) 13428
(D) 13248
(E) None of these
Ans : (E)
6. (98360 + 25845 – 36540) ÷ 2500 = ?
(A) 36·585
(B) 30·082
(C) 32·085
(D) 35·066
(E) None of these
Ans : (D)
Directions—(Q. 7–11) What should come in place of the question mark (?) in the following number series ?
7. 1, 9, 25, 49, ?, 169
(A) 100
(B) 64
(C) 81
(D) 121
(E) None of these
Ans : (D)
8. 3, 23, 43, ?, 83, 103
(A) 33
(B) 53
(C) 63
(D) 73
(E) None of these
Ans : (C)
9. 748, 737, 715, 682, 638, ?
(A) 594
(B) 572
(C) 581
(D) 563
(E) None of these
Ans : (E)
10. 121, 117, 108, 92, 67, ?
(A) 31
(B) 29
(C) 41
(D) 37
(E) None of these
Ans : (A)
11. 50, 26, 14, ?, 5, 3·5
(A) 6
(B) 8
(C) 10
(D) 12
(E) None of these
Ans : (B)
12. The ratio of ducks and frogs in a pond is 37 : 39 respectively. The average number of ducks and frogs in the pond is 152. What is the number of frogs in the pond ?
(A) 148
(B) 152
(C) 156
(D) 144
(E) None of these
Ans : (C)
13. The number of employees in Companies A, B and C are in a rtio of 4 : 5 : 6 respectively. If the number of employees in the three Companies is increased by 25%, 30% and 50% respectively, what will be the new ratio of employees working in Companies A, B and C respectively ?
(A) 13 : 10 : 18
(B) 10 : 13 : 17
(C) 13 : 15 : 18
(D) Cannot be determined
(E) None of these
Ans : (E)
14. The average of five positive numbers is 213. The average of the first two numbers is 233·5 and the average of last two numbers is 271. What is the third number ?
(A) 64
(B) 56
(C) 106
(D) Cannot be determined
(E) None of these
Ans : (B)
15. Sonali invests 15% of her monthly salary in insurance policies. She spends 55% of her monthly salary in shopping and on household expenses. She saves the remaining amount of Rs. 12,750. What is Sonali’s monthly income ?
(A) Rs. 42,500
(B) Rs. 38,800
(C) Rs. 40,000
(D) Rs. 35,500
(E) None of these
Ans : (A)
16. In how many different ways can the letters of the word ’ARISE’ be arranged ?
(A) 90
(B) 60
(C) 180
(D) 120
(E) None of these
Ans : (D)
17. What approximate amount of compound interest can be obtaied on an amount of Rs. 9650 at the rate of 6 p.c.p.a. at the end of 3 years ?
(A) Rs. 1737
(B) Rs. 1920
(C) Rs. 1720
(D) Rs. 1860
(E) Rs. 1843
Ans : (E)
18. A milkman sells 120 litres of milk for Rs. 3360 and he sells 240 litres of milk for Rs. 6120. How much concession does the trader give per litre of milk, when he sells 240 litres of milk ?
(A) Rs. 2
(B) Rs. 3·5
(C) Rs. 2·5
(D) Rs. 1·5
(E) None of these
Ans : (C)
19. When 3626 is divided by the square of a number and the answer so obtained is multiplied by 32, the final answer obtained is 2368. What is the number ?
(A) 7
(B) 36
(C) 49
(D) 6
(E) None of these
Ans : (A)
20. The sum of the two digits of a two digit number is 14. The difference between the first digit and the second digit of the two digit number is 2. What is the product of the two digits of the two digit number ?
(A) 56
(B) 48
(C) 45
(D) Cannot be determined
(E) None of these
Ans : (B)
21. A car runs at the speed of 50 kms per hour when not serviced and runs at 60 kms/hr. when serviced. After servicing the car covers a certain distance in 6 hours. How much time will the car take to cover the same distance when not serviced ?
(A) 8·2 hours
(B) 6·5 hours
(C) 8 hours
(D) 7·2 hours
(E) None of these
Ans : (D)
Directions—(Q. 22–24) What approximate value should come in place of the question mark (?) in the following questions ?
(You are not expected to calculate the exact value.)
22. (4863 + 1174 + 2829) ÷ 756 = ?
(A) 18
(B) 16
(C) 12
(D) 9
(E) 22
Ans : (C)
23. 37·35 + 13·064 × 3·46 = ?
(A) 89
(B) 83
(C) 76
(D) 79
(E) 85
Ans : (B)
24. 54 × 746 ÷ 32 = ?
(A) 1259
(B) 1268
(C) 1196
(D) 1248
(E) 1236
Ans : (A)



SBI CLERK REASONING ABILITY MODEL PAPER
Directions : - Select the related letters / word / number / figure from the given alternatives
1 Editor : Magazine
(a) Movie (b) Scene
(c) Drama (d) Director

2 Hinduism , Christianity , Islam : Religion
(a) Ear , Nose , Eyesight : Vision (b) Plus , Minus , Multiple : division
(c) Winter , Spring , Summer : Season (d) Humid , Hot , Tundra : Region

3 WOLF : FLOW :: WARD : ?
(a) BROW (b) DRAW
(c) CRAW (d) SLAW

4 GRAIN : TIZRM :: BRAIN : ?
(a) XRIKL (b) YIZRM(c) OPRST (d) ASQMI

5 CUT : BDTVSU :: TIP : ?
(a) UVHJOQ (b) SUHJOQ
(c) USJHQO (d) SUJHOQ

Q-6 19 : 59 :: 17 : ?
(a) 51 (b) 53
(c) 55 (d) 57

Q-7 14 : 20 :: 16 : ?
(a) 23 (b) 48
(c) 10 (d) 42

Q-8 100 : 102 :: 100000 : ?
(a) 105 (b) 104
(c) 1003 (d) 1004

DIRECTIONS : (QUESTIONS 9 to 13) select the one which is different from the other three .
9
(a) Mile (b) Centimeter
(c) Litre (d) Yard

10
(a) High - Up (b) Past - Present
(c) Often - Seldom (d) Fresh - Stale

11
(a) 11 - 127 (b) 9 ? 85
(c) 7 ? 53 (d) 5 ? 29

12
(a) 26 Z (b) 24 X
(c) 22 V (d) 20 S

13
(a) 8 , 64 , 112 (b) 36 , 6 , 206
(c) 48 , 4 , 202 (d) 9 , 27 , 263

14 In the following series of numerals , which digit has maximum frequency ?
846734378344563464348
(a) 8 (b) 6
(c) 4 (d) 3

15 If the day after tomorrow is Friday , what day will the third day after tomorrow be
(a) Saturday (b) Monday
(c) Sunday (d) Friday

16 If the ratio of the area of two squares is 16 : 1 , then the ratio of their perimeter is
(a) 4 : 1 (b) 16 : 1
(c) 1 : 3 (d) 3 : 4

17 The shade of 18 ft high pole is 20 ft. . Find the length of shade of 27 ft long pole .
(a) 36 ft (b) 30 ft
(c) 34 ft (d) 40 ft

18 A scores more runs than B but less than C . D scores more than B but less than A . Who is the lowest scorer ?
(a) A (b) B
(c) C (d) D

19 In the alphabets from A to Z , which is the third letter to the right of the letter which is midway between K & S ?
(a) R (b) Q
(c) P (d) O

20 If first November falls on Monday , then what day will the 25th November be ?
(a) Tuesday (b) Thursday
(c) Wednesday (d) Friday

21 The length of room is twice its breadth . If the area of the room is 242 sq meters , then find out its breadth
(a) 11 (b) 10
(c) 12 (d) 9

22 If the product of two numbers is 10 & their sum is 7 , then the larger of the two number is -
(a) ? 2 (b) 2
(c) 5 (d) 3

23 Which letter is used only in one of the given words ?
Speak , Reap , Shark
(a) S (b) P
(c) K (d) H

24 A tortoise covers one kilometer in 4 hours . It takes rest for 20 minutes after every kilometer .How much time does it takes for the tortoise to cover 3.5 kilometers ?
(a) 14 hours (b) 13
(c) 15 (d) 12

25 Of which of the following words , which one will be at the 3rd position in the dictionary ?
1. socks 2. Shocks
3. Sharp 4. snooker
(a) 4 (b) 3
(c) 2 (d) 1

ANSWER
1 2 3 4 5
c c b b b
6 7 8 9 10
b d a c a
11 12 13 14 15
a d a c c
16 17 18 19 20
a b b a b
21 22 23 24 25
a c d c a

